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QUESTION 1

Which of the following rules apply to a functional model? 

A. Cycles are permitted in the model so as to show exchanges of Information between businessfunctions. 

B. The model is navigated by organizational structure. 

C. Each level in the functional model has a specific designation with respect to functionalgranularity. 

D. Each decreasing level is finer grained with respect to functional representation when compared tothe level(s) above. 

E. Duplicate functions can appear in the model because that will help discover opportunities where Service Candidates
can be reused. 

Correct Answer: D 

 

QUESTION 2

How should the stated service-oriented Integration architecture principles be applied at an organization? 

A. All of the architecture principles must be followed. If any of the principles are violated, the architecture is not service
oriented. 

B. The organization should review and evaluate the architecture principles, and then derive their own architecture
principles that match their specific environment and goals. 

C. An organization can add additional architecture principles, but the stated architecture principles must be followed. 

D. An organization can decide to not enforce one or more of the architecture principles, but additional architecture
principles will not be needed. 

E. The architecture principles define what products will be used in the architecture, so the architecture principles must
be adjusted to reflect the chosen products. 

Correct Answer: B 

 

QUESTION 3

Services, Service consumer applications, and SOA Infrastructure components are instrumented to report on various
events and conditions within the SOA environment at run time. The types of information they log can vary widely
depending on the types of events in an organization. What are two example of these events? 

A. Business value of the Service 

B. Performance and load characteristics 

C. Service exceptions 

D. Service reuse metrics 
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Correct Answer: BC 

 

QUESTION 4

One of the goals of your newly formed SOA Initiative is to address current integration brittleness and inflexibility. Which
option best supports your goal? 

A. Make sure the Service contract details how the Service was implemented so that the Service consumer can take
advantage of the underlying technology platform. 

B. Utilize XML because it is flexible and Service consumers can transform the Service payload easily. 

C. Decouple Service consumers from Service providers by encapsulating and abstracting the source systems behind a
Service interface 

D. Utilize REST Services because they are more flexible because they are not restrained by WS* standards. 

Correct Answer: C 

 

QUESTION 5

Which three of the following are architecture principles for service-oriented integration? 

A. Point-to-point integrations should be avoided. 

B. Integrations should be point-to-point using Web Services. 

C. Message and data formats should be based on the native application data structures. 

D. Extensive, intrusive modifications to existing applications should be avoided. 

E. Service consumers should be able to migrate to a newer version of a SOA Service gracefully. 

F. There should not be more than one version of a SOA Service in production concurrently. 

Correct Answer: CDE 
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